Math122

Quiz 6

22 February 2012

Narme: SO / £/ %QS

. Directions: Show all work. No credit for answers without work.

1. [6 points] Find the derivatives of the following functions.
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2. [2 points] Let C(g) be the total cost (in dollars) of producing g itenls.mg@pose that C'(820) =
2180 and (7(820) = 21. -
(a) Estimate the cost of producing 823 items.

Cﬁﬂ@)fﬁ‘cfﬁﬂﬂ%wc%ﬁm}@%
~ 2186 ¢ 20.3 42293 ]
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(b) Estimate the cost of producing 818 items.
C(313) 7= 2180 +21(-2) =[52157]

3. {2 points] Find the equation of the line tangent to the graph of f{z) = 5z + 2% at = =33
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